97940 A BREWE , HEMFE DIN71412 , A® B

7= miiEA

M
MR TG 1.4305,

WA
Ml B, E4 550 HV 1, B4ESE,
T8N , =,

BR:

HBEEEEHETY (E4R ) 1B, XHBYLEATLAZLE TSR
BHTEBREBMNE. RAEALSRZH  XHRYS ZRESHT R
HUBREMERA

| Sw

~ :

=l ]!

1

D
97940-1106100 A BEH  HAA %1 M6X1 6 16 7
97940-1108100 A BER K #HAA Ml M8X1 6 16 9
97940-1108125 A EETNE Ay -] oL M8X1,25 6 16 9
97940-1110100 A BEH  HAA Ml M10X1 6 16 11
97940-1110150 A BE K TAA g M10X1,5 6 16 11
97940-1118 A EH  HAA L] R1/8 6 16 11
97940-1114 A BH  HAA LIk R1/4 6 16 14
97940-2106100 A EH  HAA TN M6X1 6 16 7
97940-2108100 A BEH  HAA G M8X1 6 16 9
97940-2108125 A BEH  HRA THN M8X1,25 6 16 9
97940-2110100 A BEH  HAA ] M10X1 6 16 11
97940-2110150 A BH  HAA TN M10X1,5 6 16 11
97940-2118 A EETINE PR - TN R1/8 6 16 11
97940-2114 A BEH  HAA T4 R1/4 6 16 14

© norelem www.norelem.com



97940 A BREWE , HEMFE DIN71412 , A® B

© norelem www.norelem.com



